INSTRUCTIONS TO THE LEARNER:
1. Answer all the questions and leave a line open between questions or subsections.
2. Correctly number all the questions, eg: Section and Question.  

3. MARKS WILL BE DEDUCTED FOR UNREADABLE WORK.

SECTION A – SHORT QUESTIONS
QUESTION 1

Choose the correct answer by only writing the correct letter.
1.1 The motherboard is a part of the computer that:

A. stores all the data of the computer.

B. connects all the different components of the computer.
C. allows games to be installed.

D. is not very important.

1.2 Which of the following is NOT an important component found on the motherboard? 
A. CPU
B. Memory-cards
C. Hard disk
D. System clock
1.3 Which of the following is NOT a benefit of a computer network?
A. Takes up less space.
B. Sharing of  hardware.

C. Centralisation of data.
D. Transfer of data.
1.4 Which of the following is NOT a type of network topology?
A. Bus

B. Ring

C. Star
D. Circle
1.5 ADSL is:
A. a permanent digital connection that has two channels.
B. when a normal telephone line is used to connect to the internet.
C. when digital signals are used.
D. when a network is used to connect to the internet.
1.6 A router is :
A. a device that lets the hard drive work.
B. a communication device that is used to connect a computer to the internet.
C. a communication device that connects one or more computers.
D. a communication device that connects one or more networks.
1.7 Which type of topology is used with Ethernet?
A. Ring

B. Bus

C. Star

D. Circle

1.8 What does SMTP stand for?
A. Simple Mail Transfer Protocol

B. Superior Multiple Transfer Protocol
C. Simple Multiple Transfer Protocol

D. Superior Mail Transfer Protocol

1.9 Which of the following wireless internet connections has got the highest speed?
A. GPRS

B. 3G

C. iBurst

D. ADSL

1.10 What does  RFID stand for?
A. Radio Frequency Imported Data-standard

B. Rapid Firing Information Downloading

C. Rapid Frequency Identification-standard

D. Random Format Information Downloading

1.11 Which of the following is NOT a benefit of e-trade?
A. You can shop anytime.
B. Items are usually cheaper.

C. It is easier to compare products and prices.
D. You can buy illegal goods.
1.12 Which of the following is NOT an internet search engine? 
A. Google

B. Yahoo

C. Ananova

D. Aardvark

1.13 Which of the following search-phrases will give the most accurate results?
A. “long walk to freedom”

B. great pyramid of Cheops

C. long waalk to freedoom

D. “long walk to freedom”, “nelson mandela”

1.14 Which of the following is the smallest part of a hard drive?
A. Read- and write heads
B. Cluster

C. Sector
D. Track
1.15 Which of the following is NOT a component of the CPU?
A. Control unit

B. Floating point unit
C. Arithmetic abstract unit
D. Cache memory


     

Total: Question 1 (15 * 2) = 30
QUESTION 2

State whether the following statements are true or false. If your answer is false, explain why.

2.1 The north bridge handles among other things: RAM, CPU en USB.

2.2 USB is slower than firewire.

2.3 The machine cycle consists out of 4 steps.
2.4 CMOS is built in software that controls the hardware on the lowest level.
2.5 With a Plug and Play device one must install the drivers before the device will be useful.
2.6 Bandwidth is the physical width of the cable that is being used.
2.7 Dial-up is a common phone line.
2.8 Bluetooth is faster than IrDA.

2.9 TCP is the protocol than ensures that reliable data transfer occurs within a network.
2.10 The digital divide is the gap between those people who has regular access to technology and this can be used to enrich their lives and improve their productivity.
2.11 Research consists out of 6 phases.
2.12 Cache memory will be found inside the CPU.
2.13 Registers are a permanent storage area within the CPU.
Total: Question 2 = 20
TOTAL SECTION A: 45
The following scenario must be used to answer the questions in SECTIONS B, C and D.
	SCENARIO

With their eyes fixed on the general election in 2009, the IEC decided to have one central fileserver in the main counting centre (Cape Town). Information will be sent to the central fileserver from the smaller counting centres (Bloemfontein, Johannesburg, Polokwane, Port Elizabeth and Durban). Each of the smaller counting centres must have either a terminal or a server to store the data...


s
3.1 Will the network between the smaller counting centres and the main counting centre be a GAN of a WAN? Explain your answer.



(4)

3.2 What is the 5 advantages of a Local Area Network? Explain each of these advantages.







          (10)

3.3 A standard computer network consists out of 4 components. Name them.
(4)

3.4 When a communication channel is considered, what should be kept in mind? (Hint: Disadvantages)







(4)

3.5 In your opinion, why is it important for the smaller counting centres as well as the main counting centre to backup their data? Name 4 reasons.

 (4)

3.6 What type of computer network will be the best for use in the smaller counting centres, Peer-to-peer or Client-server? Name 3 differences between these two types of networks.







(8)

3.7 Will a WLAN (wireless LAN) be able to function well for the smaller counting centres? Explain your answer.






(4)

3.8 What is a VPN? How does this type of network function? Will it be possible to use this type of network to connect the smaller counting centres to the main counting centre? Explain your answer.





(6)

3.9 Name 4 functions of a router.






(4)

3.10 Why is Ethernet considered to be the most popular LAN-architecture?
(2)

3.11 Give a description of the type of computer that should be used as a server in the smaller counting centres (as well as the server at the main counting centre). Discuss the following aspects: CPU, RAM, Storage and Network connection. 
                                                                                                                           (4)

3.12 Name 4 components of the CPU.





(4)

3.13 As stated above RAM is an important component of a server:
3.13.1. Name 4 differences between SRAM and DRAM.


(4)

3.13.2. What other type of memory is used in a computer? What is the most important property of this type of memory?



(2)

3.13.3. The above named memory is used when the computer is switched on, discuss this process in detail.





(6)

TOTAL SECTION B: 70
SECTION C: APPLICATIONS AND IMPLICATIONS
QUESTION 4: CAREERS IN IT AND E-COMMUNICATION
	The smaller count centre in Polokwane appointed a network administrator to oversee the functioning of the network, while at the smaller count centre in Johannesburg a database administrator was appointed.


4.1 What is the responsibilities of the network administrator?


(3)

4.2 What is the responsibilities of a database administrator?


(3)

4.3 What is the difference between these two careers?



(2)
4.4 To have a career in IT there are a number of certificates/qualifications needed, among others: A+ and N+. Name 2 other certificates/qualifications.

(2)

	Your IT teacher asks you to do research about the preparations for and implications of IT for the general elections of 2009. 


4.5 Name the 4 steps used to create a search?




(4)

4.6 There are 3 phases needed for research, namely:
Planning
Gather and use the information
Finalising the project

Discuss each of the phases in detail.





(6)

4.7 Give 2 examples of how computers are used to solve problems.

(2)

TOTAL SECTION C : 22

SECTION D: PROGRAMMING AND SOFTWARE DEVEOLPMENT
QUESTION 5: ALGORITHMS AND PLANNING
	The IEC will use a database to record the votes. This database will then be sent to the main counting centre where the individual databases will be combined.


5.1 The database design will look as follows:
	ID_NUMBER
	VOTE_CENTRE
	COUNT_CENTRE
	PARTY

	8212258456253
	BELA-BELA
	POLOKWANE
	ANC

	7903302568954
	QUEENSTOWN
	PORT-ELIZABETH
	UD

	6510141254563
	MARGATE
	DURBAN
	IFP

	5001022548569
	RUSTENBURG
	JOHANNESBURG
	VF+


5.1.1. Of what data type will the field ID_NUMBER be? Motivate your answer.








(3)

5.1.2. Which of the fields will be used as a primary key? Motivate your answer.








(3)

5.1.3. What type of problem will be encountered when the field NAME_AND_SURNAME field will be included? Also explain what this problem consists of.





(3)

5.1.4. Are there any additional fields that can be included? Motivate your answer.








(2)

5.1.5. Why do we make use of the underscore character (_) with the fields ID_NUMBER en VOTE_CENTE?




(1)

5.2 What is the advantage of a database approach?




(3)

5.3 The database administrator stresses the importance of SQL. Explain what SQL is and what the value of this would be for this specific database.

(4)

5.4 Provide the SQL statements for the following queries (die table name is: VOTES):

5.4.1. All the records of a specific VOTE CENTRE. The specific VOTE CENTRE will be entered into the following editbox: edtstess.


(3)

5.4.2. All the records of a specific COUNT CENTRE. The specific COUNT CENTRE will be entered into the following editbox: edttels.

(3)

5.4.3. All the records of the table, ordered by PARTY.


(3)

5.4.4. An ID number will be entered into edtIDnum. Use a wildcard to display all the records that correspond to the ID number.


(5)

5.5 What does ADO stand for? What does ADO do?



(3)

5.6 Write an algorithm that shows the approach to reading records from a database.










(5)

5.7 When the above named approach is followed, why should we use a WHILE loop instead of a REPEAT loop?





(2)

TOTAL SECTION D: 43
